(2)

SARDAR PATEL UNIVERSITY
B.COM. (I SEM) EXAMINATION

‘FRIDAY, 21" FEB. 2014
10-30 A.M. to 12-30 P.M.

RO 0 TS SN Y o} o S
No. of Printed Pages |

BUSINESS MANAGEMENT-1V (FINANCIAL MANAGEMENT-II): UB02ECOM10

Q-1
Q-1
Q-2
Q-2

Total Marks: 60
What is working capital? Describe the types of working capital. 15
OR
Discuss the factors affecting working capital requirement of a company. 15
Define Cash Management and explain the motives of it. 15
OR

ABC Ltd is expecting to have Rs, 25,000 cash on hand on 1% April 2014 and it
requires to prepare an estimate of cash position during the three months, April to

June, 2014 from the following information: 15
Month | Sales (Rs.) Purchases (Rs.) | Wages (Rs.) | Expenses (Rs.)
Feb. 70,000 40,000 8,000 6,000
March 80,000 50,000 8,000, 7,860
April 92,000 52,000 9,000 7,000
May 1,00,000 60,000 10,000 8,000
June 1,20,000 55,000 12,000 9,000

Other information:
a)  Period of credit allowed by suppliers 2 months;

b)  25% of sale is for cash and the period allowed to customers credit sale 1 month;

¢)  Delay in payment of wages and expenses 1 month; &
d) Income tax Rs. 25,000 is to be paid in June, 2014.

Explain the different kinds of inventories¥ Describe the techniques of inventory

management.

OR

What is Inventory Management? Explain the benefits of holding inventory.

Define Receivables Management and describe the factors affectin
receivables.

OR
Describe the various costs of maintaining receivables.
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